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1 mmhmﬁmmmmméﬂﬁmw mmawﬁma?ﬁm

You have been called for the written test based on the online data furnished by you in the web applicalion.
If you have wrongly entered in the web any information or you do not possess the required

qualification as per our advertisement, your candidature will be rejected.

2. SIeeA-u, 80 AT & obet WRA-YIFerh T H g AR qdemw Fr 3@t 90 T )

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is
90 minutes.

3. IR Recdl Ifed argse whR & U gl foma @ R ve srafeve v & & g

The questions will be objective type with four options out of which only one will be unambiguously correct.

4. 9% W H AT 01 3iF g 3R veds 19 3cax F AT 033 3F Her e
Each question carries 01 mark and 0.33 marks will be deducted for each wrong answer.
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5. WA & Jeal &t o fAw wreer Tefa wfar wfee srerr 3ieasm seat-gfeae & s

A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

6. Jryeny #Areli/ehToll TATET o Fiel TTSE 9 B HTHHR Jocl- RS A Haftd Hiae &) Afhd T 7h
I & I HEAT R

l You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

7. UH YA & AT IAF Ical &= I el S HTAT ST
Multiple answers for a question will be regarded as wrong answer.

8. FW W F A AR TeT-GRAPI & FIF PN AN IeoR-Gfedsl # U 71w T R/ e
wnftr)

Question booklet code printed on the top right corner should be written in the OMR answer sheet in the
space provided.

9. FeeT-GIEcTehT 3 HTThT &ATH T Hefhatieh WET o

Enter your Name and Roll Number correctly in the question booklet.

10. FTAAT See-gRecTar 7 wait wfafSear def/wreh wamdr & afer ageder @ & iy smehr e
All entries in the OMR answer sheset should be with blue/black ball point pen oniy.

11. gfreqr gfer & rdiere $r 3ufPufy & & 3mue gia-Rae ot gran & aiikv)

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

12. foifRra owfian ot aret el & Hew AT
e, Ale 1 e Y AqAfa & e

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc.. will not
be allowed inside the written test hall.

13, qof 3 Eal ¥ T

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

14, G-gRedeT 3134t 379 ar T@ wha €

The question booklet can be retained by the candidates.

15. TEreTT & WUA © F aNi At @ gl gie olss 1 sreafa a8t 2

Candidates are not permitted to leave the examination hall during the first hour of the examination.

A 2 1496
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s¥eHAa-d (FIAF) / Draughtsman-B (Mechanical)

1. 39« & z&f asr
The Turbo charger in an engine

(a) oA TSt & RU o= arer $u=r 7 ®mr &7 &7 a7 ¥/ Reduces the amount of fuel
delivered to the engine cylinder

(b) Foe et o7 U S arr 39T 7 HEr #1927 29T & / Increases the amount of fuel
delivered to the engine cylinder

¢) FteT THAST Y & S arel gar Y AT F FH FT 3aT £/ Reduces the amount of air
delivered to the engine cylinder

(d) ST AT # & JT arel gar 1 AET @Y 99 AT &/ Increases the amount of air
delivered to the engine cylinder

2. 1ﬁ?§maa?ﬁ#a$q§mﬁkﬁmzo#Etﬁmu$1Wﬁaﬁﬂﬁaz&u?%m#;Qth
S F @M A §| FARA Hr Fars el 82

A ladder of length 20m is kept inclined at an angle of 45 deg from the horizontal to reach top
of a building. What is the height of the building?

(a) 14.14m (b) 10 m
(c) 2828m (d 40m

3. ¥R @3 TEE 39T agd & fAua @ sreEw v @ g F v fear Srar

The conical section which is used to represent Boyle’s Law Graphically is

(a) I'.Pfd?[ml Ellipse

(b) e/ Circle
(¢) Yaod/ Parabola
(d) 3MIaEER ATAYITHT / Rectangular Hyperbola

4. mmmwmmwmgmmm(ﬁmmamﬁg@a
#ﬁw%maw(Mandﬁﬁﬁmi#ﬁﬁhimﬂ%lh’amaamﬁd%tmmﬁ?ﬁmﬁ;ﬁaiﬁa
F Ranfaa frar T &

Retrograde or backward reading Vernier scale is the scale constructed having
numbers of Main Scale Division (MSD) as the secondary scale (vernier) length, ‘n’ being the
number of equal parts to which Main Scale is divided

(@ n-1 (b)) n+1
(cy n (d) n+2
A 3 1496
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5. Eﬂﬁgéaaﬁ#ﬁm%ﬁvﬁmﬁiﬁwmmm%?

Which method is used for Development of Wrapped surfaces?
(a) HAFAI-YAT AFET / Parallel-line development

(b) AT fafer / Approximation method

(c) TIwIofetor fa%He / Triangulation development

(d) Bga-arss @591/ Radial-line development

6. Waew # Y AR A "BEA T fR e §, FEadr §
The double ordinate of a Parabola which passes through the "Focus" is called

(a) ‘ﬂE‘H‘ IFEH / Latus Rectum (b)  ufsHEAT/ Abscissa
() TEFT/ Vertex (d) =RfFeFT / Directrix

7. UF B & AW 25 (+0.03/-0.00) N F &7 #F gfenfa fwar mar &y Afdar arve f FgTaH
ERit 0.01 3 & 3w W wEaar 0.02 W ¥ AT IR awe F S FOFH
I §

A hole is defined as Dia 25 (+0.03/~0.00) mm. The mating shaft has a minimum clearance of
0.01mm and the tolerance on shaft is 0.02 mm. Maximum clearance between hole and shaft is

(a) 10 ATZHIsT / micron (b) 40 ATSHIA / micron
(c) 60 AZHI / micron (d) 50 HATSHI / micron

8. igq Sl BT Foft & dedt A Poafaf@a & & @iF @ Fue aew &2
Which of the following statement is true with respect to Type G feather key?

() AT RBRF 9¢ Merdr fa>T / keys with both ends round
@) I BT W iR, afedt R AR 3 F 99 T B A UGS FS & {0/ keys

with both ends square with chamfer, and hole for one retaining screw

(¢) &=l AT 9 g9 AT / keys with both ends square
(d) aﬁﬁﬁwwﬁaﬁnaﬁaﬁ#w‘ma@#a? RS H{A & AT/ keys with both ends

square with holes for two retaining screws

A 4 1496
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9. A RRu v ufa gewar wfaws 2

See the position tolerance representation given below

@I T TH=aY WUIell & a9 H B¢ & Fg FT JfFg TU (30,25) ¥ dwfaqd v Far ¢
9 X iR Y aF UF WY @A9Y A €, UF UeeAe g6 A df0ean fawor % g 0.1
Jrayes weadr Rufa & qu e §

Nominal location of the centre of the hole with respect to the coordinate system shown is
(30,25). What is the possible location when both X and Y coordinate together varies maximum
on the positive side, meeting the required position tolerance of 0.1?

(@ 30.1,25.1 (b)  30+0.05/4/2, 25+0.05/+/2

(¢) 30.05, 25.05 (d 299,249

10.  3moet, W 3R FEIar ¥ G F I HUA H UgA H?
Identify the wrong statement with reference to limits, fits and tolerance?

(@ I fages PR &1 FAVHaA AT W IqF @G0T JF HHR F A Aeeriody

3aX & / Upper deviation is the algebraic difference between the maximum limit of size
and its corresponding basic size

(b) faen REes IR f =gaan A IR 38F F6ild Jo wHR & dra Seaford

AT ¥/ Lower deviation is the algebraic difference between the minimum limit of size
and its corresponding basic size

(c) WEAA UF BEH W AHWFHIR 3R Fgead 3nHR WaAr & #1 F7 W &/ Tolerance is the
difference between the maximum and minimum size limits on a part

(d) TEIA FFRHASF, FAhNcHAS AT Yo &0 Tl &/ Tolerance may be positive, negative or
Zero

11. FrRR & gid $r urd 9dg, 9 §Fa & D 3R A9 § a7 & d9dd Y Fgl Jar &

Side surface of tooth of a Gear, below the pitch circle, and perpendicular to the plane of the
gear is called

(a) i T &/ Tooth face (b)  &d T fFART/ Tooth flank
() &I #T 33 / Root of tooth (d) T & &AW/ Crest of tooth

A 5 1496



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

12. 2t & A FiT T @A s F FAET F FIAT 87
Which of the two combinations performs the same function in AutoCAD?
(a) F93/and Ctrl T (b) F83R/and CtrlL

(¢ F73R/and CtrlK (d) F53R/and Ctrl D

13. Ru v A7 # vh 3¢ F MY 729 A 39 ydR @ v §
Top view of a hole is shown in a drawing as follows
g a9 aRifar 7

f’@/&mv
What does it indicate?

(a) TE ST 7 Y & # KT 14 FWic HiFr & Wy P Far £/ It indicates a dia 7 thru
hole with dia 14 spot facing

(b) IF UF ST 7 Y B F IAT 14 FE3T 97 & iy ST Far § / It indicates a dia 7
thru hole with a dia 14 counter bore

(©) UE ST 7 R g AT WEA F WY UF FEX FF G H AT v §/ It indicates a
counter sunk hole with thru hole id of dia 7

) IE ST T F WY U Y A A NG war § For wdae’r A swv 14 R Fos9GT
foRar ST &/ It indicates a thru hole with dia 7 where dia 14 washer has to be used in

assembly
14, i R v Q7 #F 2&
"Refer the figure below

&

Yl
| Alr, a)
_____ o
Pl (R

o 5
__________ ] B

R@w v gAeaw gondr & dEu A g A 3l B F i RdwE FAen (K, Y) R -
&, P& yomeh ¥ deat # afy femmw e Big A S gdwr WERNF (r, o) B) A foeg B & gd
fordarias 7 22

Cartesian coordinate of Points A and B with respect to the coordinate system shown arc
(X1,Y1) and (X1,~Y1) respectively. If the polar coordinates of Point A w.r.t the coordinate system
shown is (r, a), what is the polar coordinate of Point B?

(a) (r,180—-a) (b) (—r, a)
{(c) (r360-a) (d) (-r—0a)
A 6 1496
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15. Ufoier afehar &l fhar siam §
Annealing process is carried out to

1. 3aRe 9fdgel @ FThRT Ul & foIU/ Relieve the internal stresses

2. uerd Ao % T/ Soften the material

3. fawsrr e F AAMT #F/ Produce heterogenous structure

(a) 1%ad/only (b) 2%ad/only

(¢) 3%ad/only (d) 13 /and 2 Faer/only

16. TABEAIA FIfE Y ARE AT F AT NDT dereiids & 39311 fhar Jrar &
NDT technique used for measuring coating thickness of anodizaion is
(a) av orT fafer/ Eddy current method

(b) ﬂ'ﬁ‘iﬁm oTor fafer / Magnetic induction method
(¢ Iecrmilae A&/ Ultrasonic method
(d) FeARF A/ Coulometric method

17. e A # fefaa ofda skw §) 3 frddr Aer & T gerar 74.5% &, HP & 337 &1
e} A3EYE AT S (1HP = 745W)

The power developed in a motor is 5kW. If the mechanical efficiency of a motor is 74.5%,
find the power output of engine in HP (1HP = 745W)

(a) 3HP (b) 4HP
(c) 5HP (d 6HP

18. NURBS # 'N' & &1 3% 2?2
What does ‘N’ stand for in NURBS?
(a) 4T/ New . (b) @A/ Non

() Wi / Natural (d) Y=Y/ Null

19. V 3o H, 3ol MHIR W V 3R # Ry ot w1 gaftya g 72

In V Engines, the engines are arranged in V shape usually at an angle of
(a) 30° (b) 60°
(c) 45° (dy 90°

20. 54 fawdvder $r ofd @ Sevdds A s

Convert speed of 54 km/hr into m/s

(a) 54 m/s ) 30 m/s
(c) 194 m/s (d) 15 m/s
A 7 1496
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21.

22.

23.

24.

25.

26.

27.

Google Play

L=2m, B =3m, H =4mmﬁma€rgﬁrc[88mmww%?
What is the Total Surface Area of a Cuboid of L = 2m, B = 3m, H =4m?
(a) 24 m? ) 52 m?

(¢) 48 m? (d 18 m?

A4 FETS FT TR &

Area of A4 paper is
(a) 1m? (b) 1/8 m?
(¢ 1/4m? (d) 1/16 m?

v @ W@ U R g@R 3o aw SRR ged ar agee & IRt AR faem faws
AT ¥, FEear §

The curve generated by a point on a straight line which rolls around a circle or polygon
without slip is called

(a) 3eTaIegE / Involute (b) EEFAIS / Cycloid
(¢) gfeaa/ Helix (d) Ffﬂéw / Spiral
ey el &1 FATANT w89oT §

The isometric projection of a sphere is
(a) WA ST HT Uk ged ¥/ is a circle of the same diameter

(b) B TAH F TH Jed ¥/ is a circle of smaller diameter
(c) &3 TUH ¥ Uah gcd ¥/ is a circle of larger diameter

(d) T=H aﬂﬁ t/is an ellipse

U ¢ H AFER Fag F R & ——————— &g &l

The development of the curved surface of a cone is a of a

(a) WFET, ged / sector, circle (b) WIHT, ed / segment, circle
(¢ s, ﬁé’{ﬁ{! segment, ellipse (d) o, YIGdA / arc, parabola

AART § ¥ Y 3R See & 3909 Aifas o o v & fov a8 BRar s 82

Which of the following letter symbol is not used to represent fundamental deviation?

(@ A ® D

© Q (d H

afy frlr RAr W S weaar Pfise 7T &, @ IS 2102 FE (AEEH I3) FEIAT F AR,
6mmaﬁrm€ragméa1é$mﬁﬁw:mﬁw—w—ﬁﬁm(ma
T ¢

If no tolerance is specified on a dimension, as per IS 2102 standard (medium grade)
tolerancing, an angle specified with shorter side length of 6 mm can have a tolerance of
minutes (max).

(a) 60 (b) 45
(© 30 @ 10
8 1496
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28. A amwe IR e & FAE A U 1w 3TAR &
If the dimensions of a shaft and a hole are specified as below:
AFE FN AT HFR - 60 mm / Shaft basic size — 60 mm, 60 = 0.020 & §T F @< /
specified as 60 + 0.020
& HT AT HFR —~ 60 mm / Hole basic size — 60mm, 60 £ 0.005 F 77 # @Afése/ specified as

60+ 0.005

HOFIA T AT £? / What is the maximum allowance?
(a) 0.005 b) 0.025
{(c) 0.015 (d) 0.020

99, Tw FAAT 25°00% ¥ wq ¥ gutam awy ¥, WHR A AOFAA A F4T §7

A dimension indicated as 25*3%¢, What is the maximum limit of size?

(a) 25.008 (by 24995
(c) 25.080 (d) 25.005

30. TH TH G F Halks HoT g ¢

The internal angle of a regular pentagon is
(a) 60° b) 120°
(0 108 d 72

31. Jax PR & deu F Dfaf@a & ¥ #i9 a1 $ya g 79 87

Which of the following statement is not true with regard to Bevel Gear?

(0) ¥ AR &1 3wer faed duRa &6 & R R S § a9 awe Awde 8 @
it U= B ¥/ Bevel gears are used to transmit power when the shafts are

offset and non — intersecting

(b) ¥ PR A, gid FEFER Fag 9§ d & / In bevel gear, the teeth are formed on

conical surfaces
(c) R PRI F 39G0T IEEIRE &7 F G o Aor W o F A & Qv fBFar o

F&dT &/ Bevel gears may be used to connect shafts at practically any angle

(d) R g #r O g 9 d99 TR AR TorEe A9 PR & w9 7 geffea fear e
AFar ¥/ Bevel gears may be classified as straight teeth bevel gears and spiral bevel

gears

A 9 1496
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32. uﬁmmﬁwmﬁqﬁgsﬁﬁﬁ?ﬁ@aﬁm@ﬁﬁ
If you drag and drop a drawing file into the window of an open drawing,
(a) UF E AT GA A § Y ST F 3uAT F WU sEROT T 9T G & @y ar

foam weifera e Wiy feam o @@ar ¥/ A new drawing is opened which can be saved
with or without modification to a storage location for future use

(b) FIEIT P K TAA F sclich Wl & & F AT 1w ¥/ The drawing is inserted as a
block reference to the work space

(©) VAR T UF 1% I & ®9 F WiaeT a1 ILT BT YT VAN W wiF F 5T F e
& RFeat & Qv ga 2ar & / The software will prompt for options to open it as a new
drawing or insert the drawing as block on to the drawing space

(d) ﬁ*ﬁ@?ﬂﬂ#wmw@ﬂﬁ#ﬁémmﬂﬁﬁ?ﬁngraggingadrawing

on to the drawing area will not generate any action

33. aﬁﬁmﬁﬁaaﬁzwm@qﬁﬁummamwazaﬂTRsa?#as&ﬁWﬁ

If the equivalent resistance of the following circuit is Ri+X, Express X in terms of R2 and Rs

{(a) Rat+Rs {b) R2*Ra
(¢©) R2*Ry/(Rz+Ra) ‘ (d) (R2+R3)/R2*Ra

34. WIBEA Hedal & T & aToad FUT H Ugare] F17
Identify the wrong statement with respect to profile tolerance?

(8) WIS Teaar fredr @erorT ¥ T 7 BEfg w1 g & / Profile tolerance can control

the location of a feature

(b) WEFe TEgar Rl @eor & 3R ® BEE et a9y £ / Profile tolerance can

control the orientation of a feature

(c) WIWISST TEgar Y @811 & &9 F7 AT 7 HEAT & / Profile tolerance can control

the form of a feature

(d) WwTEE Feadl # e REs v e B cafraeg dar w Bt a8 fFar o

HFaT &/ Profile tolerance cannot be specified to an individual surface without spoecifying
a datum

A 10 1496
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35. U €7l @ M24 x 2, 5H & &9 # ofenf¥a famar aam §) g9 ofsmr & 2 3R 5H giar &,
A thread is defined as M24 x 2, 5H. In this definition 2 and 5H represents
(a) AN WA a1t fr W= 3R dgaar AT/ Pitch and Tolerance grade of internal thread
respectively
(b) FAA: 4nt Fr g A#R BT / Pitech and Depth of thread respectively
(c) g urer dr FHA: g T @gaar A5/ Pitch and Tolerance grade of external thread
respectively

(d) ®AT: g IR ey fr FIRAT/ Pitch and thread hardness respectively

36. &dm @ ¥ FU F ToIT Hex wsaR o1 e FA 1) i ¢ T &gl ol &
A lock nut with a fiber ring fitted inside to avoid loosening is called

(a) &HA =1¢/ Castle nut (b) AT AAE/ Sawn nut
(¢) TAHZ & oie 77¢/ Simmond’s lock nut (@ T4 &1 A 57T/ Wile’s lock nut

37. maflt& amt are wiat & Sz & v el aw O 99 R T o @er 9ISy SEder &

A small pipe threaded through out on the outside, used for connecting pipes having internal
threads is called

(a) FIAT/ Coupler (b)  AATT IS / Union joint
(¢) ©Coldr / Plug (d) fauer/ Nipple

38. Aol 3K wHEiaT gy ofuy & ddy & Peafaf@a & & 39 @1 Fu7 g7 78 &2

Which of the following statement is not true with respect to series and parallel electric
circuits?

(a) Aoft &g qv Y ﬁg,?ﬁ’ U URT AT &/ The current is the same at all points on a
series connection

(b) THGR T H YAF TCH B AW dteest Hr 31qfE Hr e &/ In a parallel

connection every component is supplied with the same voltage

© wwmmmﬁ@wmmmtw*waﬁ%una

parallel connection the total current is equal to the sum of all the individual currents

(d) 9fEANUT & FASC FAST H Fo IOUY cAfFaera Giadet & a1 & suat §/ The

total resistance of a parallel combination of resistors is equal to the sum of the individual
resistances

39. 15:813-1986 & I[HR, A Rw@mar a1 de5 1 A el FATT &
As per 15:813-1986, the basic symbol of weld shown below represents

(n) BAT U &€ 3¢5/ Double U Butt weld (b) Ba V &€ d¢5/ Double V Butt weld
(¢) B9 J 9C de3 / Double J Butt weld (d) 3 ddd 9 e/ Double Bevel butt weld

A 11 1496
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40.
41.

42,

43.

44.

45.

iR 7 @ #i o v 39T gery a8 32

Which one of the following is not a bearing material?

(a) ¥%e U1 / White metal (b)  eelieT / Teflon
(c) @=ar dlgr/ Cast iron d) Y& TegAIATA / Pure Aluminium

FogeT A A O TR g Fher A 32

What is the smallest storage unit in the computer?

(a) AT S15€/ Nano Byte (b) €3¢/ Byte

(¢ T&e/Bit (d) f&ar @S/ Kilo Byte

frfaf@a Ry & Fa vor f1 fras [Awes Ft gufr = 32
What type of rivet failure is represented in the following sketch?

o= |—

(a) Telc @7 FAEROT/ Tearing of plate (b)  ©AT FT JIFYOT/ Shearing of plate
() HNA® P TSA«T / Crushing of rivet  (d) &I @7 IIEIUT / Shearing of rivet

it A S AR AR F e oF aReg A9 3TERT §
A precision measuring instrument for checking and setting of angles is
(a) FFIH / Compass (b) 9 Wewe / Bevel protractor

(¢ Fa8 A/ Height gauge (d)  WIZH &/ Sine bar

'm' FEAAI Y T a6 U el Afaw aas W R g ¥ afX wior @ wor o R, & o
FI &AS df WA T & A0 HaaE 7gAaA a7 §

An object of mass 'm' rests on a rough horizontal surface. If the angle of friction is '0', the
minimum force required to move the object along the horizontal plane is

(a) mgsind (b) mgcosO

(¢) mgtant (d) mgcotO

FUE ' & U oF GeaPR SN AT F IEAHIOT d FCAUT AT F AR AT I 3T
HURY — W

The centre of gravity of a right circular solid cone of height 'h' is at a distance of ——
from its base, measured along the vertical axis.

(a) h/6 (b) h/i4
(¢) h/3 d h/2
12 1496
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46. d5 Rig 81 do5 FF AW U F F3AT ¥, FEAA &
The point where the weld face joins the parent metal is called
(a) & HT/Root gap (b) de8 FHT 21/ Toe of weld

(c) WS- %d/ Fusion face (d) de8 ST/ Weld junction

47. Trafafad # 3 Fia @ = yatw gy 87
Which one of the following materials is highly elastic?
(a) X/ Rubber (b)) A/ Brass

(¢) T/ Steel (d) TaH/Glass

48. 31§ Yade gdieTor uar wene & fav fRar Sar @
Dye penetrant test is conducted to locate
(a) FN &Y/ core defects (b) TAg &N/ surface defects

(c) t[ﬁ?ﬂ? & / superficial defects (d) 3FurEh W/ temporary defects
49. TF Qe worel Frad v Aef-Redse Y IOE-HA A { TAAT S FRA ¢

A pulley system in which a machine - spindle can be driven at different speeds is
(2) C.I &€ Tell / belt pulleys

(b) TE Ha AT LB g‘c'-'l’f /Speed Cones or Stepped Pulleys
(c) TEAT gell/ Rope Pulleys
(d) V- ST Jell/ belt Pulleys

50. T W A5¢ FIFT THS AT F IIANT FAT 87
Which belt drive uses ‘Guide Pulleys’?
(a) wiF-de< 3189 / Cross-Belt Drive (b) 39 Fe< 359/ Open Belt Drive

(¢ TUdER g159 / Stepx;ed Drive (d) HHFPOT 3139/ Right Angled Drive

51. 'V' 5C S PIE-QRA S9HI 5 HEHER T g0 &
The cross-section of a ‘V’ Belt is shaped roughly like a
(a) GFHe/ Circle (b) UfFTH/ Trapezium

() T[T/ Triangle (@ @91/ Square

52. U v #, AT aFa cgw & 9ia s Fas F gt hr g @dr §

In a gear, the number of teeth per unit length of a pitch circle diameter is

(a) =T 4=/ Diametral Pitch (b)  gccd =/ Circular Pitch
(c) #izge 4= / Module Pitch (d) e R=/ Chordal Pitch
A 13 1496
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53. A& 40 it Aty TR 1 R Wt SR 200 mm &, o Fager R ¥
If a Gear with 40 teeth has pitch circle diameter 200 mm, the Module pitch is

(@) 15.7 ® 5
© 0.2 (d) 18.84

54. mﬁw‘rmm'h'mwaﬂa@wm
Volume of a solid cone with base radius ¥ & height ‘b’
(a) 1/3xrch (b) 4/3 = r¢h
(¢0 =nr2h (d) 4/3nrd

55. 3erhs Wiveawy #F AHivde wAis & dha &9 ¥
In AutoCAD software, abbreviation for Offset command is

(a) OFF (b) SET
(0 OS d O

56. 9w MRS & v WSyw w1 Rl e awr yd T Tt 2

Which is the symbol representing a Reducer for pipe fittings?

© —- i

(c) = (d) J'
T—ﬂ—— L

57. mm#mmmmmm-vemﬁmaamaﬁmnma
In AutoCAD software, while using Rotate command, direction for rotation for —ve angle is

(a) EEOTEd E{\U‘IFI'/ Clockwise Rotation

() & 7T W RIAT/.Direction of cursor movement

(c) TvHET El;Ui?-rl Counter clockwise Rotation

(d) E‘T\U‘IFT #r FIS APaT 2w A&/ No fixed direction of rotation

58. mﬁsﬁw%ﬁmw%sﬂgﬁama@gm,wmmmﬂﬁmﬂﬁwm
gl 87

In Pipe fittings, which type of Joint uses: two external threaded nuts, one coupler nut and
packing ring

(a) @Tar gl AATHT st SN / Cast iron flanged joint

(b) @EEZIfAF WET Mg / Hydraulic Pipe Joint
(c) qjﬁm SiTE / Union joint
(@ dire IR Ruae AT / Socket and spigot joint

A 14 1496-
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59. O TEH ol H UGHT IS HiT | BT 82

Which is the first stroke in a four stroke engine?
(a) 9raY ¥IH / Power Stroke (b) %M ¥IF / Exhaust Stroke

() TFAT TIF / Suction Stroke (d) dNsT ¥ / Compression Stroke

60. 3ITOFE F, “RAY” FHIS FIT T &7
In AUTOCAD, what does “RAY” command do?
(a) HTGI@ a’v‘.fl;l'}# T TF AT F FAT FHTET &/ Constructs a boundary from existing objects

(b) 3T HIZ UT 9T HIAT ¢/ Toggles to arc mode
() UF e 7 vF 33a I@T S4TAT § / Creates an infinite line in one direction
(d) frdr IOl & udF eawe = ooy & T T fRAT ST @FaT &/ Each object in an

array can be manipulated independently

6l. A4x3%F ¥ F AT Ay oy s@wen & Forar F HHER R

Size of Special Elongated series paper Designated as A4 x 3 is
{a) 210 x 297 b) 297 x 630
(¢) 420 x 594 (d 330 x 450

62. god T FEW AT ST §
The longest chord of the circle is
(a) =IO/ Diameter (b Bsar/Radius

() TINW@T/ Tangent (d) ®FeT/Sector

63. SI¥ UF oFS Jocid AF B IHET F FFaad Uh AHAA @RI FIT S §, & i @ 99T § 98 &

When a right circular cone is cut by a plane, perpendicular to the axis, the curve formed is

(a) &dged / Ellipse (b) g/ Circle
(¢) YGeid/ Parabola (dy fA9T@ad/ Hyperbola

64. IfE FS IW TEUT T & FAWIAR g ar SHFT T&IqoT gem

If a line is parallel to the plane of projection, it's projection will be
(a) Y@ T Fd9E F A / same length as that of the line

(b) Y@ Fr IEAAF FES T BIET/ smaller than the actual length of the line
(c) uF fdg/ a point
(d) B 1 aafa® FaE ¥ ’TAE / greater than the actual length of the line

A 15 1496
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65. WAMATY FRIUT H UF T@T A g A qRafAE dwE w; o I @
The length of a line in isometric projection is ——————— times of its true length.
(a) 0.5 (b) 0.815
() 1.44 d 075

66. X <
v,

I8 R Yoot o w0 @ Rroer 9Pl w6 F R 399 By s &2

This hatching pattern is conventionally used for representing what?
(a) oW / Glass (b) 9/ Water

() hshIE / Concrete (d) 3/ Wood

67. 37S HHATG AR Gl aren S Haram §
A solid having eight equilateral triangular faces is called a
(a) ®©aT/Cube (b)  2TTEIT / Tetrahedron

(c) gFATEENRT / Hexahedron (d) 3R / Octahedron

68. 9% WARY fag o w Aofas & ool oS Aeria wow g5 € seamar &
The common point at which all the slant triangular faces of a pyramid joins is called

(a) UTIFH/ Apex (b) g&FY/ Vertex
(¢) wrEr/ Foci (d) 599 & FIS AET/ None of these

69. & WA QA el AT TgHeh Heeral §
A polyhedron having two identical end faces is called
(a) ?i? / Cone () ™SH/Prism

(c) T3 / Tetrahedron (@ TfAs/ Pyramid

70. form aqafst # ARt sond e gt aur dae o s wHeR g, 3 aes wea &

A quadrilateral where all the four sides are different and only two sides are parallel is called

(a) W\HTR El?:f)ﬁiﬁ'/Parallelogram (b) QF=F/Rhombus
(c) ¢USHTSS/ Trapezoid (@ IS H / Trapezium

A ' 16 1496
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71.

73.

74.

Jeifanfper oreg 7 ‘3Tl & T §

In the term orthographic, 'orthe' means

(a) 33/ Drawing (b) T/ Straight
(¢) WEYYT/ Projection (dy T/ View
Refafla sofad geaar Reg o &

The following geometric tolerance symbol signifies

A

{a) HTYsT/ Straightness

(b) UF Y@ A WG5S / Profile of a line
(¢) Tdg Fr NEBH / Profile of a surface
(d) 7S / Roundness

GET IT ON
Google Play

I 3T & A, O & 3R # o F 7 @ ge, A o & AW F Fedt 7 dee R

#r Arerg o S &

For drawing purpose, irrespective of shape of head, bolt head thickness in terms of the

diameter of the shank ‘d’ 1s taken
(a) 1d (b) 08d
¢ 05d (d) 1.2d

A RAfEar 3t s RAféer & e Rafker 9fFa R &, sMesaa Ra P F @t A ¢

In riveting row pitch for chain riveting and zig-zag riveting, in terms of maximum pitch ‘P’ are

(a) @M 0.6P 3R 0.8P / 0.6P and 0.8P respectively
(b) @AM 0.8P H 0.6P/0.8P and 0.6P respectively
() @AA: 1P IR 0.8P/ 1P and 0.8P respectively
(d) wHe: 0.8P 3T 1P/ 0.8P and 1 P respectively

T BY € i3 A, AT @ areh et f A 't F w8t F FR vl ar w9

Al &

In a single strap butt joint, the thickness of cover plate or strap in terms of thickness ‘t’ of the

plates being joined is

(a) t b 1.2t
(© 1.125¢ d 1.25t
17
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76.

71.

78.

79.

80.

247

AN A S (BIS) 1S:4218 E@RT 39417 & faw fFe wo) & 92 (37 9) & Rwfer
& e g7

What type of threads is recommended for use by Bureau of Indian Standards (BIS) 1S:4218?
(a) #few q\?f ! Metric thread (b) BSW

(¢ ASME (d DIN

U deedR A O 2 R o @) oYl § @ e F ey s @ #, wwerar

A cylindrical shank having threads on both ends, with the plain portion in between is called
(a) ¥ 5 / Set Screw

(b) WI33YS e/ Foundation bolt
() s/ Stud
@ g+ aiee / Hook bolt

ﬁmm%maﬁﬁﬁmwmmm%mm%?
Which type of nut is operated using a hook spanner?
(a) THR dAc/ Square nut

(b) Fyred AT/ Capstan nut
() ?_FIE.ETT &9 A / Domed Cap nut
(d) IR AT/ Collared nut

et v Fr A gdhewar &

Reading accuracy of a steel rule is

(a) 0lcm (b) 0.05cm
{c) lcm (d) 0.5 cm

't AIeTS 1 RAT FAET e F THAT A mm F REr @ R

Nominal Diameter of a rivet connecting plate of thickness 't' in mm is given by

(a) 6t b 4.05Jt
© 19Vt @  15vt
18 1496
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